1. Which of the following is not a condition for perfect competition?

  A. A large number of firms exist.

  B. All firms produce an identical product.

  C. There are no barriers to limit entry and exit.

  D. All firms are price makers.

2. In perfectly competitive markets, each firm sees the demand for its

output as:

A.   a vertical line.

B.  a positively sloped line.

C.  a horizontal line.

D.  a negatively sloped line.

3. In perfect competition, the demand for each firm's output at the

equilibrium price is such that the firm

 A.  will not lose all sales if it raises price alone.

 B.  will be better off lowering price than it will be simply maintaining its price at the current equilibrium level.

 C.  will be able to sell the quantity it wishes to sell at the current equilibrium price.

  D. all of the above.

4. In perfect competition, which of the following is always true?

 A.  p = mr.

 B   p = ATC.

 C.  p = AVC.

 D none of the above.

5. "Normal profits" exist when economic profits are

 A.  > 0.

 B. < 0.

 C.  = 0.

 D none of the above. Normal profits always exist in competitive markets.
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6. If the price of the output is $6.00, the profit maximizing output level

for a perfectly competitive firm is 

 A.  10.

 B.  86.

 C. 122.

 D. 130.

7. With an output price of $6.00, the total revenues of a firm

producing at the profit maximizing level are

 A.  $60.00.

 B.  $516.00.

 C.  $780.00.

 D. $732.00.

8. With an output price of $6.00, a firm producing at the profit

maximizing output level has total costs of

 A.  $90.00.

 B.  $570.96.

 C.  $390.44.

 D. $630.50.

9. With an output price of $6.00, economic profits/losses for a firm

producing at the profit maximizing output level are

A.   $30.00.

B.   $54.96.

C.   $161.04.

D.   $101.50.

Use the following graph to answer the next 2 questions.
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10. Under the price and cost conditions depicted by graph, the firm

A.   is earning economic profits.

B.   is earning economic losses.

C.   is earning zero economic profits.

D.   none of the above. The firm's profit position cannot be determined.

11. Under the price and cost conditions depicted by graph, which of the

following is correct?

A.   the firm should operate in this condition in the long run.

B.   the firm should produce in the short run; exit in the long run.

C.   the firm should shut down in the short run; exit in the long run.

D.   all of the above.

12. Which of the following is not a barrier to entry?

  A. patent rights.

  B. licensing.

  C. diseconomies of scale.

  D. control over an essential resource.

13. Monopoly 

 A.  exists in a market with a single seller of a good that has no close substitutes.

 B.  is always a large firm.

 C.  does not require high barriers to entry.

 D  all of the above.

14. A profit-maximizing monopolist will always produce the level of

output at which 

A.   P = MC.

B.   MR = MC.

C.   P = ATC.

D. all of the above represent the profit maximizing rule for the monopoly firm.
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15. Given the table the missing total revenue figure is:

A.   $3600.

B.   $4250.

C.   $4400.

D.   $4550.

16. Given the table the missing economic profit or loss figure is:

A.   $720.

B.   $685.

C.   $600.

D. $580.

17. Given the table what price should the profit-maximizing monopolist charge? 

A.   $ 11.

B.   $ 10.

C.   $ 9.

D. $ 8.

18. For a monopoly earning economic losses, the demand curve

A.   is above the average total cost curve at every level of output.

B.   is below the average total cost curve at every level of output.

C.   is tangent to the average total cost curve at every level of output.

D.   none of the above are correct because a monopoly firm cannot earn

economic losses.

19. The demand curve of a monopolist is

A.   identical to the marginal revenue curve.

B.   downward sloping and above the marginal revenue curve.

C.   downward sloping and below the marginal revenue.

D.   identical to the demand curve faced by individual price-taker firms.

20. Which of the following is not a distinguishing characteristic of an

oligopolistic market?

A.   A large number of rival firms.

B.   Interdependence among firms.

C.   Substantial economies of scale.

D. High barriers to entry.

Use the following graph to answer the next two questions.
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21. The shut down point is: 

A. A

B. B

C. C

D. D

22. The short run supply curve is the segment of mc above:

A. A

B. B

C. C

D. D

23. The differences between price takers and price searchers do not

include which of the following?

A.   Price takers have identical products but price searchers have

differentiated products.

B.   Price searchers choose a price at which to sell but price takers do not.

 C.  Price searchers face a downward-sloping demand curve but price takers do not.

D. Price searchers always earn economic profits but price takers do not.

24. The marginal revenue for the 4th unit of output is
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B. $60

C.   $5

D.  $0
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25. Under the demand and cost conditions faced by this monopolistically competitive firm, the total revenue of the firm producing where marginal revenue = marginal cost is equal to

A.   AEKM.

B.   AGHM.

C.   AFIN.

D. ABLM.

26. Under the demand and cost conditions faced by this monopolistically competitive firm , if the firm is producing where marginal revenue =

marginal cost then total cost is equal to

A.   AEKM.

B.   ACJN.

C.   AFIN.

D.   BGHL.

27. Under the demand and cost conditions faced by this monopolistically competitive firm, the economic profit for the firm producing where

marginal revenue = marginal cost is equal to

A.   AEKM.

B.   BGHL.

C.   AFIN.

D. EGHK

28. In the long run, a monopolistically competitive firm facing these demand

and cost conditions can expect

A.   its demand curve to shift to the left.

B.   to earn losses.

C.   to raise price if it wants to maintain its current profit position.

D.   all of the above.

29. For a monopolistically competitive firm in a long-run equilibrium

A.   MR = MC.

B.   P = ATC.

C.   P > MC.

D. all of the above.

30. When compared to a price-taker market, monopolistically competitive market will

 A.  produce a wider variety of products.

 B. produce at lower prices.

 C.  produce at lower average total cost.

 D. all of the above.

31. The idea that a monopolistically competitive firm causes inefficiency

A.   is undermined by the fact that the firm produces where P = ATC.

B.   is supported by the fact that the firm produces where P > MC.

C.   is undermined by the fact that the firm follows the same profit maximizing

rule as a pure competitor, i.e. produce where MR = MC.

 D.  is supported by the fact that people really place no value on product

differentiation.
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32. If the world price of yo-yos is P1,

A.   U.S. producers of yo-yos gain produce surplus of P2jfP1 compared to the no-trade situation.

B.   U.S. producers of yo-yos lose produce surplus of P2jgP1 compared to the no-trade situation.

C.   U.S. consumers of yo-yos gain consumer surplus of P2jgP1 compared to the no-trade situation.

D.   U.S. consumers of yo-yos gain consumer surplus of P2jfP1 compared to the no-trade situation.
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